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Answer all Five questions from Group B, each question 

carries 4  marks.
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8

Explain closing error in a closed traverse. How

would you adjusted it graphically.

0 0 0125 15’, N30’E, 360 , S45 45’W

B.B 

State two personal and two instrumental error in 

levelling.

OR

8.

8

8

9.

OR
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        The main principle of surveying is to work 

from:

(a) The centre to the boundary

(b) The boundary to the centre

(c) The part to the whole

(d) The whole to the part

The length of Gunter’s chain is :

(a) 50 ft

(b) 70 ft

(c) 66 ft

(d) 100 ft

What are the different type of levelling operation?

OR

Answer all Five Questions. 
8 x 5 = 40

Define survey. Explain in detail the classification 

of survey.

7.

8
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(iii)

(iii)

(iv)

(ii)

If q be the angle of slope and l the sloping 

distance, slope correction is given by:

(a) l (1-sinq)

(b) l (1-cosq)

(c) l (1-secq)

(d) l (1-cosecq)

The curvature of the earth is ignored in:

(a)  Hydrographic surveying

(b)  Plane surveying

(c) Geodetic surveying 

(d)  None of these

6.

4

Differentiate between true meridian and magnetic

meridian.

collimation and axis of the telescope.

5.
4
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(v)

(v)

(vi)

(iv)

4.

The line drawn through the points of same

declination is called:

(a) Magnetic line

(b) Agonic line

(c) Isogonic line

(d) Contour line

The sum of interior angles of closed traverse 

is:
0

(a)(2n + 4) x 90  
0

(b) (n - 4) x 90  
0

(c) (2n - 4) x 90  
0

(d) (n + 4) x 90    

4

Explain in short resection method in plane table

surveying.

quadrantal bearing
0000

(a) 1220’ (b) 9240’ (c) 19530’ (d) 30030’

Define the term offset.

bearing.

3.

4

OT12010 OT12010



12 5 02105/01205/P0120502105/01205/P01205

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

(xx)

Vertical angle between the horizontal axis of
a magnetic needle and the horizontal line at 
the point is called:
(a) Bearing
(b) Dip
(c) Magnetic bearing
(d) Azimuth

In a theodolite, a straight line tangential to 
the longitudinal curve of the level tube at its
centre is known as:
(a)  Line of sight
(b)  Horizontal axis
(c)  Bubble line
(d)  Tube centre

What do you understand by local attraction.

4
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(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

If q be the RB of a line and L length then 
departure is given by:

(a) L cosq

(b) L secq

(c)  L cosecq

(d) L sinq

The principle of plane table is:
(a) Parallelism
(b) Triangulation
(c) Traversing
(d) Both (a) and (b)

The face left position is also called:

(a) Telescope inverted

(b) Telescope reversed

(c) Telescope normal

(d) Bubble down

For ranging a line , the number of ranging 

rod required is:

(a)  At least two

(b)  At least three

(c)  At least four

(d)  At least five
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(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

The two-point problem is method of

(a) Resection

(b) Orientation

(c) Resection and orientation

(d) None of the above

The U-fork and plumb bob are required for

(a)  Centering

(b)  Leveling

(c)  Orientation

(d)  Resection

Intersection method of detailed plotting is 
most suitable for:
(a) Forests
(b) Urban area
(c) Hilly area
(d) Plains

The closing error in a closed traverse is 
adjusted by:
(a)  Lehmann’s rule
(b)  Bowditch rule
(c)  Slide rule
(d)  All of the above
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(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv) U-fork 

An alidade is used in plane table surveying
for:
(a) Centering
(b) Orientation
(c) Drawing lines
(d) Traversing

The correction due to curvature in levelling is

(a)  

(b)  

(c)  

(d)  

2
d
R

2
d
4R

2
d
2R

2
5

2
 d
2R

2
d
R

2
d
4R

2
d
2R

2
5

2
 d
2R

The operation of levelling across any river
is termed:
(a) Profile levelling
(b) Reciprocal levelling
(c) Compound levelling
(d) Cross-section levelling

The line of collimation and axis of the 
telescope should:
(a)  Coincide
(b)  Be parallel
(c)  Be perpendicular
(d)  Be vertical
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State two merit and two demerit of plane table

survey.

surveying.

and explain in brief.

line.

OR

OR

10.

8

8

17 02105/01205/P01205

State two merit and two demerit of plane table

survey.

surveying.

and explain in brief.

line.

OR

OR

10.

8

8

OT12010OT12010



18 02105/01205/P01205

contour line, contour interval and horizontal 
equivalent, hanging cliff.

OR

***

1802105/01205/P01205

contour line, contour interval and horizontal 
equivalent, hanging cliff.

OR

***
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